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(Hindi & English Version)

(Total No. of Printed Pages: 08]
[Maximum Marks: 75]

[Total No. of Questions: 23)
[Time: 03 Hours) - —
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(v) T BHE 18 & 20 WWW?/WWWWWHW#W!

gR)F q¥ o7 i dF [FEiRd &
(vi) 7o F® 21 § 23 T3 dfgediy gvT &) TAE TvT & gov AT 120 A=] A 4T

gRlE TE v ar d@ [Ela &1 -
(vii) FEY JEvyE & we q Aied [ a7V, @
Instructions —

(i)  All questions are compulsory.
(ii) Question numbers 1to 5 are objective questions, one mark is assigned for each

question, total questions are 30.
(ifi) Internal options have been given in questions number 6 to 23.
(iv) Question number 6 to 17 are very short answer questions. Write answer of each
question in approximately 30 words. Two marks are allotted for each question.
(v) Question number 18 to 20 are short answer questions. Write answer of each
question in approximately 75 words. Three marks are allotted for each question.
(vi) Question 21 to 23 are long answer questions. Write Answer of each question in

approximately 120 words. Four marks are allotted for each question. -
(vii) Make clear and labelled diagram where necessary. -
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g1 @@ fawey gaew faRae - (6x1=6)
() Preffad 4§ fg qanl @ wdeT ar ad &

(31) ar=™ (@ urh .
(|) =g (@) o @
(i) feoma & Semror & -
(@) fem smadH @ @
@) T @) @S
(iii) Wﬁﬁmﬁaﬁaﬁm"mﬁr@?ﬁ%?
(@) aiftadom (@ i 5
@) ww (@) @A SEITIES
(iv) ac &1 7159 & —
(37) Kgms? (@) Nm?Kg*
(4) Nm?2 (&) Nm?
(v) U B T @R BT A R -
(31) 9.2 ms? (@) 8.9ms?
(4) 9.6 ms? () 9.8ms?
(vi) mﬂwﬁmﬁﬁaﬁﬁﬁmmmmﬁm
T 87
(@) vfrw I g (@) cfe SRwmEer
(|) g v (@) vfrw Adfw

Choose the correct option and write -
(i) Which of the following substances can be compressed?

(a) Almond (b) Water
(c) Air (d) Potato
(i) Example of solution is -
(a) tincture iodine (b) milk
(c) salt (d) mud
(ili) In osmosis the movement of molecule is of -
(a) oxygen (b) water
(c) sugar (d) carbon dioxide
(iv) The unit of force is -
(a) Kgms? (b) NméKg?
(c) Nm? (d) Nm2
(v) The value of acceleration due to gravity of the earth is -
(a) 9.2ms? (b) 8.9 ms?
(c) 9.6 ms? (d) 9.8 ms?
(vi) Which of the following nectar is used in commercial hone
production? Y .
(a) Apis cerana indica (b) Apis dorsata
(c) Apis florea (d) Apis mellifera -
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g2 Re e ) off Sifoe -

() SR @®.._ . & deM W IS FI B TAA FoAl g S 2
(il)  9REI] BT ITBER TED oo e &1l 2 |
(i) TaraTel § wammeR TRRRforam Fa@ Ho e B B
(iv) a%g &1 ¥R gt ... 5 e & W AR |
(V) R fag ol 1 T PR i 2
(vi) Uﬂfmm‘uﬂuﬁa‘r ............................................................................................. dgd 8 |
Fill in the blanks -

()  Onincreasingthe ......................... of a solid, the kinetic energy

of its particles increases.
i) Size of AOM IS VEIY...........oooiiiiiiiiieeeee e

(
(ifi) Inthe respiratory tract, the columnar epithelial tissue has..............

(iv) Weightof an objectequalto..........cccoeevvvueerennns force of the earth.
(V) The.....ococoeenrenn, is the biggest natural source of energy to us.
(VI) is the management of animal livestock.
93 el Gﬁﬁ fAargT -
¥ () = ()
() < seed  (a) o=
(i) YEXHTS (b) uwHE] Rigid
(iii) gt (c) & R
(iv) &t (d) gt fq
(v) 3mgf (e) YT WS
(vi) () &
(g) S
Match the following -
Column (A) Column (B)

(i)  John Dalton (a) Joule

(i)  Rutherford (b) Atomic Theory
(i) Earth (c) Green manure
(iv) Energy (d) Circular Motion
(v) Frequency (e) Atomic Model
(vi) Moong (f) Hertz

(g) Fertilizer

(61=8)

(6x1=6)
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y4 TP g/ e ¥ I fafaw — (6x1=8)

() Reph fsor @ sgadl & 9UE & D .
HN? .
(il mwmmvﬁmm$mﬂm/lﬂmﬁ :

q9e & w9 § forar mar?
(i) 9% S @1 A Ry, o TR TR § @ ferg S B
(iv) Y e @ AR @ e § A T afy @ e 87
(v) qﬁﬁmmwmaﬁsﬁvwﬁmaﬂmm%@m
(Vi) WTIRT AT @ S @ forg serdn R 9l 87
Write the answer in one sentence/word -
(i) Which method is used to separate components of heterogeneous

mixture?
(i) 1/12" of the mass of which atom was taken as the standard for

this atomic mass unit?
(i) Write the name of the tissue which is responsible for the movement

in our body?
(iv) What is the quantity measured in the area below the velocity-time

graph?
(v) Name the upward force exerted by water on the bottle.
(vi) What is the audible range for the normal human ear?

us 94 /39 fafay —
(i) faedt @ &1 va @99 e 2 |
(i) gQacH BT GaMH ST | T —— o g 2 |
(i) @ B Rreell & BIRGW & I 76 el & |
(iv) U@l T ¥ =Tl B AiEd °d ded B |
(v) Eal &1 g9cd gIgRMIeR O A9 € |
(vi) RTEAfY EHE® s TN SN SUNT Bl 8 |
Write true/false -
(i)  Soil particles are uniform.

(6x1=8)

(i) The mass of an electron is about —times that of a proton.
(i) The cells of onion membrane are not uniform.

(iv) The speed at unit time is called average speed. ;
(v) The density of liquids measured with a hydrometer. ﬁ

(vi) Ultrasonic detectors use infrasonic waves.
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us

U9

9.10

U@ Ma@R RafiT q@ F ol B Fen § wem 2| T8 dEcied W B
ﬁ)‘H.T’T 3 gt 27 fafa |

A driver is able to cut through water in a swimming pool. Which property
of matter does this observation show? Write.

Juar/OR

A N Ewen § qa) ¥? .
Why a wooden table in solid state?
T YER B forw g9 9= Bar 41 < F? AR ﬁ
Why does we spread the clothes for drying up? Write.

Jvar/OR
Tt § R N ) & e A v e g9 w8 S @7
Why does the water kept in an earthen pot become cool during
summer?

Frafefem < 4 R ey femm #2
(3 K2SOs (@) CHsOH
How many atoms are present in the formula of written below?
(a) KaSO. (b) CHsOH

Juai/OR
FPrafafm @ g3 fafae -
(31) Wf¥Tm TS (@) I wgeEEs
Write the formula for the written below -
(a) Sodium Chioride (b) Calcium hydroxide
waramar AR FEd &7 s A v fafa |
What is valency? Write the valency of carbon.

e/ OR
e R wE &7 IETeww wfta faftw
What is an ion? Write with example.

afy frl g A saEerAl @ e 8 @ IR A A wem e 8 W -

() T @ GES " F
(@) AT FT T A @7

If number of electrons in an atom is 8 and number of protons is also 8,

then -
(a) what is the atomic number of the atom?

@

@

@

@)

(b) what is the charge on the atom? .
avar/OR 3

Y qur TegdfY A wifes e ® o T
Draw the atomic structure of magnesium and atuminium.
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.12

913

H14

415

.16

& @ o o forfay |

Write the two work of blood. =

WaEd Fad 3 a1 s fafay |
Write the two work of vascular tissue.
N 0T RwmE § 7Y sigw ol |
Write two difference between distance and displacement.
Jrar/ OR
3T AT TE AT A7 F Q) efer foRaw |
Write two difference between average speed and average velocity.
afd &1 wem o fafaw |
Write the first law of motion.
Jear /OR
iy &1 i frawm fafag
Wirite the third law of motion.
FR T TH RIATS TF & F7ed ¥ 96 & UF Riceh @) ars <al &, Fi°
Why a karate player breaks a slab of ice with a single blow?
@/ OR
Ty ¥ A g8 e I g fF e B araa & Tl @) FRU fafag |
Fast moving cricket ball can hits a spectator. Write the reason.
ool BT A fram R |
Write the universal law of Gravitation.
FEr/OR
anfeaa &1 Rigia fafay |
Write the principle of Archimedes.

e @ g WEad @ 31 Sua fafey |

Write two uses of multiple reflection of sound.
e/ OR p

IR A T Iewd o ¥ ] er fof |

Write two differences between transverse wave and longitudinal wave.

@)

@

@)

@

@

@)
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@)

917 FIRRE TR A afvar ol | .
Write the process of manure. ﬁ

arv@ar/OR
Piores 3 gaem A @) goreh fafag )
Write two systems of management of poultry farming.
918 WA @ A s R @)
Write three applications of isotopes.
Juar/OR
';T-ﬁﬂﬁa%a\mwrﬁaﬁww%uma?u.ﬁﬁaﬂﬁaﬁmﬁﬁﬂ
|
e Tamme %) FNA T 1 TR R e’
Consider the mass of two isotopes of chlorine, 35u and 37u, which are
In the ratio of 3:1.
Which mass should be considered as the mass of chlorine atom?
919 W Fae & wxaa Fmifea B3 wfea |
Write the structure of protective tissue with labelled diagram.

e/ OR
afer vd sufRy & 9 iR fafaw |
Write three differencas between bone and cartilage.
20 FRMERT ¥ RS AT e @ g g6 wka @ 3R 30s # 6ms

FT AT YT BT 2, HEfdd BT @R S AT |
From rest Rahul starts riding his cycle from rest and attains a speed of

6ms-' in 30s. Find the acceleration of the cycle.
Fuar/OR

Praferfd ¥ | S et wie &7

(31) ¢ awg Rre &1 @ B @ w9 g A

(@) @ @Ra &g T I TR R W A
() ¢ o e Piftga Ren 4 7R @R @ & T T WS TR

I
Which of the following situations are possible? .
(@) An object whase acceleration is constant but velocity is zero. .
(b) An accelerated object is moving with unitorm speed.
(c) An object is moving in a fixed direction and the acceleration is

(9)

()

perpendicular to it.
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H.21

w22

¥.23

W

frsror v S § ER sfax fafav |
Write four differences between mixture and compound. .
aar/OR 3
oTg 9 g ¥ A e e |
Write four differences between metal and non-metal.
; amaifea o

Tt @ a7 @ Ry e TaR A PR @ o B &7
ERT T BRI |
What type of cell division occurs for the formation of ga
Explained with a labelled diagram.
arerar/ OR
915y HIRET T AWifed {5 187 |
Draw the labelled diagram of plant cell.
T el 10kg &1 9% R ¥ 2m HW TOHR I RR W @Al B | IHD
ERT 919 W v v ol a1 oo BT |
A porter lifts a load of 10kg to a height of 2m from the ground and put it
on his head. Calculate the work done by him on the load.
arear/ OR
Frafefra & ofvemer fafag —
@) o (@ "MmeA (@) R @) Rufw st
Write the definition of the written below -
(@) Work  (b) Kinetic energy (c) Power (d) Potential energy

metes?

(@

@

Y
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